Answers to OAD 1990
1. Solutions of sodium iodide and lead nitrate are mixed
Reaction type: double replacement 

Answer: I- + Pb2+ ( PbI2
2. A solution of ammonia is added to as solution of ferric chloride.

Reaction type: complex ion formation
Answer: NH3 + Fe3+ ( [Fe(NH3)6]3+
3. A solution of hydrogen peroxide is heated.

Reaction type: decomposition (AKA redox) 
Answer: H2O2 ( H2O + O2
Note: Memorize this reaction.

4. Solutions of silver nitrate and sodium chromate are mixed.

Reaction type: synthesis 
Answer: Ag+ + CrO42- (  Ag2CrO4
Note: This might seem like redox at first due to the chromate, however, it is in neutral solution.

5. Hydrogen sulfide gas is bubbled through a solution of potassium hydroxide.

Reaction type: acid/base 

Answer: H2S + OH- ( S2- + HOH
6. Solid dinitrogen pentoxide is added to water.

Reaction Type: nometal oxide + water ( acid (no change in oxidation state)
Answer: N2O5 ( HNO3
7. A piece of solid bismuth is heated strongly in oxygen.
Reaction type: two elements ( synthesis  (AKA redox)
Answer: Bi + O2 ( Bi2O3
Note: I doubt you’d see Bi on the ap exam, because it’s not common.

8. A strip of copper metal is added to a concentrated solution of sulfuric acid. 
Reaction type: elemental metal ( redox
Answer: Cu + H+ + SO42- ( Cu2+ (or Cu+) + SO2
.

